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[URADER] (Bifr: M)
PR INR S FHE REZE B s &
1 BiEE 14,053,000| 13,293,000| A 760,000
= & 3,000 X 3575 & = 10,725,000 M
1 RERVESREES 12,853,000| 12,839,000| A 14,000
i A= kick 7,000 § X 302 %% = 2114,000 M
£ B 1000H X 402 & = 402,000 A
2 RESXHERES 1,200,000 454,000| A 746,000 |RESEHEAS
*=8-—# 2000 A X 26 & = 52,000 M
2 RFESE 11,201,000{ 11,201,000 0
1 BRERE 11,201,000( 11,201,000 O|FHMEZEE(11X)ERSE
3 FH# 490,000 461,780| A 28,220
REEFHH 442,200
1 HotAFHN 490,000 461,780 A 28220|MEHOEAFHH 16640M
2ERELTEN\VOCFHE 2940
4 HUTA 365,000 575,605 210,605
mBREETS—4 —+3IF—BAL 177,000
N 2R %54t E 151,500
1 FRETIRA 355,000 573,900 218,900 2E+2HIEE 214500/
M E BB RIEHEEE 30,900
2 HUXA 10,000 1,705 A 8295|FEEFIFE
5 HEINA 1,000 0| A 1,000
1 ESEAIRA 1,000 0| A 1,000
6 fRHs 4,744,000 4,744,973 973
1 FEERYES 4,744,000 4,744.973 973
& 30,854,000 30,276,358| A 577,642




